CHANGE ORDER NO.: 2

Owner:	City of Jackson, Missou	ıri	
Engineer:	Horner & Shifrin, Inc.	Engineer's Projec	t No.: 2103601
Contractor:	Fronabarger Concreter	rs, Inc.	
	Water System Facility	Plan Implementation and E. Main Co	oncrete Improvements
Project:	Project, Phase 2, Proje	ct 2C	
Date Issued:	November 18, 2022	Effective Date of Change Order:	December 5, 2022

The Contract is modified as follows upon execution of this Change Order:

Description:

Unit price quantities adjusted for final quantities and added Pay Item No. 34 - 36'' HDPE w/Backfill and Pay Item No. 35 - 2'' Water Service.

Attachments: Table No. 1 - Fee Summary of Change Order No. 2

Change in Contract Times [State Contract Times as either a specific date or a

Change in Contract Price	number of days]						
Original Contract Price:	Original Contract Times:						
	Substantial Completion: September 12, 2022						
\$ 926,315.00	Ready for final payment: October 12, 2022						
[Increase] [Decrease] from previously approved	[Increase] from previously approved Change Orders						
Change Orders No. 1 to No. [Number of previous Change Order]:	No.1:						
	Substantial Completion: 36 days						
\$ NA	Ready for final payment: 36 days						
Contract Price prior to this Change Order:	Contract Times prior to this Change Order:						
	Substantial Completion: October 18, 2022						
\$ 926,315.00	Ready for final payment: November 17, 2022						
[Increase] this Change Order:	[Increase] this Change Order:						
	Substantial Completion: 0 days						
\$ 12,921.53	Ready for final payment: 0 days						
Contract Price incorporating this Change Order:	Contract Times with all approved Change Orders:						
	Substantial Completion: October 18, 2022						
\$ 939,236.53	Ready for final payment: November 17, 2022						

Recommended by Engineer (if required)

.

Authorized by Owner

By:	Lisa Fennewald, P.E. Hua & Fenne Sale	
Title:	Senior Project Manager	Mayor, City of Jackson
Date:	October 18, 2022	
	Accepted by Contactor	
	DAVID MCMULLIN, Das Millulle	
Title:	PRESIDENT FRONABARGER CONCRETERS, DI	
Date:	11/29/22	

EJCDC[®] C-941, Change Order.

Copyright[©] 2018 National Society of Professional Engineers, American Council of Engineering Companies and American Society of Civil Engineers. All rights reserved.

Page 1 of 1

						Total Adjusted	Total Adjusted	Increase	Increase	Total	
						Contract	Contract	(Decrease) in	(Decrease) in	Adjusted	Total Adjusted
Pay		Original				Quantity Per	Extended Price	Contract	Contract	Contract	Contract
Item		Contract		Contract	Original Contract	Previous	Per Previous C.	Quantity This	Extended Price		Extended Price
	Description	Quantity	Units	Unit Price	Extended Price	<u>C. O.'s</u>	<u>0.'s</u>	<u>C. O.</u>	This C. O.	<u>C.O.</u>	This C.O.
	n St. (Georgia to Goose Creek)										
	6-Inch PVC Water Main (Open										
	Cut)	0	LF	\$54.00	\$0.00	0	\$0.00	0	\$0.00	0	\$0.00
	8-Inch PVC Water Main	-				-					
	(Restrained)	822	LF	\$72.00	\$59,184.00	0	\$0.00	30.4	\$2,188.80	852.4	\$61,372.80
	6" x 6" Tap & Valve	1	EA	\$2,750.00	\$2,750.00	0	\$0.00	-1.0	(\$2,750.00)	0.0	\$0.00
8	4" x 4" Tap & Valve	0	EA	\$2,500.00	\$0.00	0	\$0.00	1.0	\$2,500.00	1.0	\$2,500.00
	8-Inch Gate Valve	1	EA	\$1,850.00	\$1,850.00	0	\$0.00	2.0	\$3,700.00	3.0	\$5,550.00
10	Fire Hydrant Assembly	0	EA	\$6,250.00	\$0.00	0	\$0.00	1.0	\$6,250.00	1.0	\$6,250.00
	Reconnect 3/4" or 1" Water										
11	Service	10	EA	\$1,650.00	\$16,500.00	0	\$0.00	-2.0	(\$3,300.00)	8.0	\$13,200.00
	Extension of 3/4" or 1" Water										
	Service	175	LF	\$65.00			\$0.00	20.5	\$1,332.50	195.5	\$12,707.50
	New Curb Stop & Box	4	EA	\$625.00		0	\$0.00	-1.0	(\$625.00)	3.0	\$1,875.00
	Granular Backfill	230	CY	\$30.00		0	\$0.00	41.45	\$1,243.50	271.45	\$8,143.50
	Asphalt Pavement R&R	46	SY	\$80.00		0	\$0.00	-46.0	(\$3,680.00)	0.0	\$0.00
19	Concrete Sidewalk R&R	110	SY	\$80.00	\$8,800.00	0	\$0.00	13.4	\$1,072.00	123.4	\$9,872.00
20	High Early Concrete Drive R&R	141	SY	\$80.00	\$11,280.00	0	\$0.00	17.6	\$1,408.00	158.6	\$12,688.00
	High Early Concrete Pavement										
	R&R	460	SY	\$80.00			\$0.00	51.3	\$4,104.00	511.3	\$40,904.00
23	Concrete Curb R&R	0	0	\$45.00		0	\$0.00	49.6	\$2,232.00	49.6	\$2,232.00
26	Cut & Cap Existing 4" Pipe	1	EA	\$400.00	\$400.00	0	\$0.00	1.0	\$400.00	2.0	\$800.00
28	Valve Box Removal	1	EA	\$350.00		0	\$0.00	1.0	\$350.00	2.0	\$700.00
34	36" HDPE w/Backfill	0	LF	\$141.75		0	\$0.00	125.0	\$17,718.75	125.0	\$17,718.75
35	2" Water Service	0	EA	\$2,400.00		0	\$0.00	1.0	\$2,400.00	1.0	\$2,400.00
	Total Amount=				\$162,369.00		\$0.00		\$36,544.55		\$198,913.55
	yland St.										
	8-Inch PVC Water Main (Open										
1	Cut)	278	LF	\$63.00	\$17,514.00	0	\$0.00	22	\$1,386.00	300.0	\$18,900.00
	8-Inch PVC Water Main										
3	(Restrained)	100	LF	\$72.00			\$0.00	0	\$0.00	100.0	\$7,200.00
6	8" x 8" Tap & Valve	1	EA	\$3,500.00	\$3,500.00	0	\$0.00	-1	(\$3,500.00)	0.0	\$0.00

Pay Item		<u>Original</u> Contract		<u>Contract</u>	Original Contract	Total Adjusted Contract Quantity Per Previous	<u>Total Adjusted</u> <u>Contract</u> <u>Extended Price</u> Per Previous C.	Increase (Decrease) in Contract Quantity This	Increase (Decrease) in Contract Extended Price	<u>Total</u> Adjusted <u>Contract</u> Quantity This	<u>Total Adjusted</u> <u>Contract</u> Extended Price
<u>No.</u>	Description	Quantity	<u>Units</u>	<u>Unit Price</u>	Extended Price	<u>C. O.'s</u>	<u>0.'s</u>	<u>C. O.</u>	<u>This C. O.</u>	<u>C.O.</u>	<u>This C.O.</u>
9	8-Inch Gate Valve	1	EA	\$1,850.00	\$1,850.00	0	\$0.00	2	\$3,700.00	3.0	\$5,550.00
10	Fire Hydrant Assembly	1	EA	\$6,250.00	\$6,250.00	0	\$0.00	0	\$0.00	1.0	\$6,250.00
11	Reconnect 3/4" or 1" Water Service Extension of 3/4" or 1" Water	3	EA	\$1,650.00	\$4,950.00	0	\$0.00	-2	(\$3,300.00)	1.0	\$1,650.00
12	Service	95	LF	\$65.00	\$6,175.00	0	\$0.00	-80	(\$5,200.00)	15.0	\$975.00
16	Granular Backfill	130	CY	\$30.00	\$3,900.00	0	\$0.00	-21	(\$630.00)	109.0	\$3,270.00
17	Asphalt Pavement R&R	295	SY	\$80.00	\$23,600.00	0	\$0.00	-140.5	(\$11,240.00)	154.5	\$12,360.00
18	Concrete Pavement R&R	68	SY	\$80.00	\$5,440.00	0.0	\$0.00	-68.0	(\$5,440.00)	0.0	\$0.00
21	High Early Concrete Pavement	0	SY	\$80.00	\$0.00	0.0	\$0.00	102.6	\$8,208.00	102.6	\$8,208.00
22	Concrete Curb & Gutter R&R	0	LF	\$45.00	\$0.00	0.0	\$0.00	15.5	\$697.50	15.5	\$697.50
23	Concrete Curb R&R	0	LF	\$45.00	\$0.00	0.0	\$0.00	49.6	\$2,232.00	49.6	\$2,232.00
	Total Amount=				\$80,379.00		\$0.00		-\$13,086.50		\$67,292.50
E. Mai	n St. (Lilly to Bellevue)										
	8-Inch PVC Water Main (Open										
1	Cut)	378	LF	\$63.00	\$23,814.00	0	\$0.00	0.6	\$37.80	378.6	\$23,851.80
7	6" x 6" Tap & Valve	0	EA	\$2,750.00	\$0.00	0	\$0.00	1	\$2,750.00	1.0	\$2,750.00
9	8-Inch Gate Valve	1	EA	\$1,850.00	\$1,850.00	0	\$0.00	1	\$1,850.00	2.0	\$3,700.00
10	Fire Hydrant Assembly	0	EA	\$6,250.00	\$0.00	0	\$0.00	1	\$6,250.00	1.0	\$6,250.00
11	Reconnect 3/4" or 1" Water Service	5	EA	\$1,650.00	\$8,250.00	0	\$0.00	0	\$0.00	5.0	\$8,250.00
12	Extension of 3/4" or 1" Water Service	105	LF	\$65.00	\$6,825.00	0	\$0.00	-5	(\$325.00)	100.0	\$6,500.00
16	Granular Backfill	120	CY	\$30.00	\$3,600.00	0	\$0.00	7.7	\$231.00	127.7	\$3,831.00
17	Asphalt Pavement R&R	289	SY	\$80.00	\$23,120.00	0	\$0.00	23	\$1,824.00	311.8	\$24,944.00
21	High Early Concrete Pvmt R&R	0	SY	\$80.00	\$0.00	0	\$0.00	103	\$8,208.00	102.6	\$8,208.00
22	Concrete Curb & Gutter R&R	15	LF	\$45.00	\$675.00	0	\$0.00	0.5	\$22.50	15.5	\$697.50
23	Concrete Curb R&R	0	LF	\$45.00	\$0.00	0	\$0.00	49.6	\$2,232.00	49.6	\$2,232.00
	Total Amount=				\$68,134.00		\$0.00		\$23,080.30		\$91,214.30
E. Mai	n St. (Bellevue to Neal)										
1	8-Inch PVC Water Main (Open Cut)	329	LF	\$63.00	\$20,727.00	0	\$0.00	-329	(\$20,727.00)	0.0	\$0.00
_	8-Inch PVC Water Main	10		¢450.00	¢0.000.00		\$0.00	10	(\$0.000.00)		# C C
5	Directional Drill (Restrained)	42	LF	\$150.00 \$2,750.00	\$6,300.00 \$2,750.00	0	\$0.00	-42	(\$6,300.00)	0.0	\$0.00
6	6" x 6" Tap & Valve	1	EA			0	\$0.00	-1	(\$2,750.00)		\$0.00
9	8-Inch Gate Valve	1	EA	\$1,850.00	\$1,850.00	0	\$0.00	-1	(\$1,850.00)	0.0	\$0.00
10	Fire Hydrant Assembly	2	EA	\$6,250.00	\$12,500.00	0	\$0.00	-2	(\$12,500.00)	0.0	\$0.00
16	Granular Backfill	7	CY	\$30.00	\$210.00	0	\$0.00	-7	(\$210.00)	0.0	\$0.00
21	High Early Concrete Pavement R&R	30	SY	\$80.00	\$2,400.00	0	\$0.00	-30	(\$2,400.00)	0.0	\$0.00
24	Rip Rap	11	SY	\$45.00	\$495.00	0	\$0.00	-11	(\$495.00)	0.0	\$0.00
26	Cut & Cap Existing 4" Pipe	1	EA	\$400.00	\$400.00	0	\$0.00	-1	(\$400.00)	0.0	\$0.00

						Total Adjusted		Increase	Increase	<u>Total</u>	Total Adjusted
Pay		Original				<u>Contract</u> Quantity Per	Contract Extended Price	(Decrease) in Contract	(Decrease) in Contract	<u>Adjusted</u> Contract	Total Adjusted Contract
Item		Contract		Contract	Original Contract	Previous	Per Previous C.	Quantity This	Extended Price		Extended Price
No.	Description	Quantity	Units	Unit Price	Extended Price	<u>C. O.'s</u>	<u>0.'s</u>	C. O.	This C. O.	<u>Quantity rins</u>	This C.O.
28	Valve Box Removal		EA	\$350.00		0	<u>0.s</u> \$0.00	<u>-1</u>	(\$350.00)	<u>0.0</u>	<u>11115 C.O.</u> \$0.00
20	Total Amount=		EA	\$350.00	\$350.00		\$0.00 \$0.00	-1	-\$47,982.00		\$0.00 \$0.00
Dellas											φ 0. 00
Bellev	ue St., Washington St., & Neal S 8-Inch PVC Water Main (Open	st.									
1	Cut)	980	LF	\$63.00	\$61,740.00	0	\$0.00	7.7	\$485.10	987.7	\$62,225.10
1	6-Inch PVC Water Main (Open	900	LF	\$03.00	φ01,740.00	0	φ0.00	1.1	φ 4 05.10	907.7	φ02,223.10
2	Cut)	10	LF	\$54.00	\$540.00	0	\$0.00	0	\$0.00	10.0	\$540.00
	8-Inch PVC Water Main	10	L I	ψ04.00	φ0+0.00	0	ψ0.00	0	ψ0.00	10.0	φ0+0.00
3	(Restrained)	607	LF	\$72.00	\$43,704.00	0	\$0.00	1	\$72.00	608.0	\$43,776.00
6	8" x 8" Tap & Valve	3	EA	\$3,500.00		0	\$0.00	-1	(\$3,500.00)	2.0	\$7,000.00
7	6" x 6" Tap & Valve	1	EA	\$2,750.00		0	\$0.00	1	\$2,750.00	2.0	\$5,500.00
8	4" x 4" Tap & Valve	1	EA	\$2,500.00		0	\$0.00	0	\$0.00	1.0	\$2,500.00
9	8-Inch Gate Valve	8	EA	\$1,850.00		0	\$0.00	0	\$0.00	8.0	\$14,800.00
10	Fire Hydrant Assembly	3	EA	\$6,250.00		0	\$0.00	1	\$6,250.00	4.0	\$25,000.00
	Reconnect 3/4" or 1" Water										
11	Service	12	EA	\$1,650.00	\$19,800.00	0	\$0.00	0	\$0.00	12.0	\$19,800.00
	Extension of 3/4" or 1" Water										
12	Service	85	LF	\$65.00	\$5,525.00	0	\$0.00	10	\$650.00	95.0	\$6,175.00
	6" Fire Service Connection &										
13	Valve	1	EA	\$1,650.00		0	\$0.00	0	\$0.00	1.0	\$1,650.00
14	Extension of 6" Fire Service	15	LF	\$85.00		0	\$0.00	0	\$0.00	15.0	\$1,275.00
15	New Curb Stop & Box	3	EA	\$625.00	\$1,875.00	0	\$0.00	0	\$0.00	3.0	\$1,875.00
16	Granular Backfill	410	CY	\$30.00	\$12,300.00	0	\$0.00	0	\$0.00	410.0	\$12,300.00
17	Asphalt Pavement R&R	456	SY	\$80.00	1 1	0	\$0.00	-142.7	(\$11,416.00)	313.3	\$25,064.00
18	Concrete Pavement R&R	593	SY	\$80.00		0	\$0.00	-208	(\$16,640.00)	385.0	\$30,800.00
19	Concrete Sidewalk R&R	88	SY	\$80.00		0	\$0.00	-15	(\$1,160.00)	73.5	\$5,880.00
20	High Early Concrete Drive R&R	0	SY	\$80.00	\$0.00	0	\$0.00	43	\$3,440.00	43.0	\$3,440.00
	High Early Concrete Pavement										
21	R&R	140	SY	\$80.00	, ,	0	\$0.00	84	\$6,680.00	223.5	\$17,880.00
22	Concrete Curb & Gutter R&R	10	LF	\$45.00		0	\$0.00	-2.9	(\$130.50)	7.1	\$319.50
23	Concrete Curb R&R	12	LF	\$45.00		0	\$0.00	26	\$1,161.00	37.8	\$1,701.00
25	Cut & Cap Existing 2" Pipe	1	EA	\$350.00	1	0	\$0.00	0	\$0.00	1.0	\$350.00
26	Cut & Cap Existing 4" Pipe	4	EA	\$400.00		0	\$0.00	2	\$800.00	6.0	\$2,400.00
27	Cut & Cap Existing 6" Pipe	1	EA	\$450.00		0	\$0.00	0	\$0.00	1.0	\$450.00
28	Valve Box Removal Total Amount=	6	EA	\$350.00		0	\$0.00	0	\$0.00	6.0	\$2,100.00
					\$305,359.00		\$0.00		-\$10,558.40		\$294,800.60
Old Ca	ape Creek Crossing										
	6-Inch DIP Water Main	26		670.00	¢4,000,00	0	¢0.00	40	¢4.000.00	45.0	#0.450.00
4	(Restrained)		LF EA	\$70.00	+ /	0	\$0.00	19	\$1,330.00	45.0	\$3,150.00
10	Fire Hydrant Assembly	0		\$6,250.00		0	\$0.00	1	\$6,250.00	1.0 40.0	\$6,250.00
24 29	Rip Rap Back Execution	40 12	SY CY	\$45.00 \$350.00	. ,	0	\$0.00 \$0.00	-11	\$0.00		\$1,800.00 \$350.00
29	Rock Excavation	12	CY	ა კეი.იი	\$4,200.00	U	\$U.UU	- [1]	(\$3,850.00)	1.0	\$350.00

<u>Pay</u> <u>Item</u> No.	Description	<u>Original</u> <u>Contract</u> Quantity	Units	<u>Contract</u> Unit Price	Original Contract Extended Price	<u>Total Adjusted</u> <u>Contract</u> <u>Quantity Per</u> <u>Previous</u> <u>C. O.'s</u>	<u>Total Adjusted</u> <u>Contract</u> <u>Extended Price</u> <u>Per Previous C.</u> <u>O.'s</u>	Increase (Decrease) in Contract Quantity This C. O.	Increase (Decrease) in Contract Extended Price This C. O.	<u>Total</u> <u>Adjusted</u> <u>Contract</u> Quantity This C.O.	<u>Total Adjusted</u> <u>Contract</u> <u>Extended Price</u> This C.O.	
<u>30</u>	Concrete Encasement	13	CY	\$355.00		<u>0</u>	<u>0.s</u> \$0.00	0	\$0.00	<u>0.0.</u> 13.0	\$4,615.00	
30	Joint Restrain of Ex. 6" PVC Pipe	2	EA	\$500.00	. ,	0	\$0.00	0	\$0.00	2.0	\$1,000.00	
32	Gabion Mattress	10	CY	\$320.00		0	\$0.00	0	\$0.00	10.0	\$1,000.00	
33	Concrete Stream Liner	32	SY	\$320.00		0	\$0.00	0	\$0.00	32.0	\$3,520.00	
- 33	Total Amount=	32	31	\$110.00	\$3,520.00 \$20,155.00	0	۵0.00 \$0.00	0	\$0.00 \$3,730.00	32.0	\$3,520.00 \$23,885.00	
	East Main Street Concrete Improvements											
	Clearing and Grubbing	0.1	AC	60,000.00	,	0	\$0.00	0	\$0.00	0.1	\$6,000.00	
102	Removal of Improvements	1	LS	19,000.00	,	0	\$0.00	0	\$0.00	1.0	\$19,000.00	
103	Class B Excavation	980	CY	14.00	-,	0	\$0.00	0	\$0.00	980.0	\$13,720.00	
104	Compacting Embankment	10	CY	35.00	350.00	0	\$0.00	0	\$0.00	10.0	\$350.00	
105	Type 1 Aggregate for Base (6 in. thick)	1,672	SY	\$6.25	\$10,450.00	0	\$0.00	286	\$1,789.38	1,958.3	\$12,239.38	
106	Type 5 Aggregate for Base (4 in. thick)	32	SY	\$5.00	\$160.00	0	\$0.00	-1	(\$4.00)	31.2	\$156.00	
107	Concrete Pavement (8 in. non- reinforced)	1.370	SY	\$56.00	\$76,720.00	0	\$0.00	449	\$25.144.00	1.819.0	\$101,864.00	
107	Concrete Pavement (6 in. non-	1,070	01	\$30.00	ψ <i>1</i> 0,720.00	0	ψ0.00		φ20, 144.00	1,010.0	φ101,00 4 .00	
108	reinforced)	163	SY	\$64.00	\$10,432.00	0	\$0.00	-100	(\$6.368.00)	63.5	\$4,064.00	
100	Integral Curb (6 in.)	488	LF	\$4.00	\$1,952.00	0.0	\$0.00	5.2	\$20.80	493.2	\$1,972.80	
110	Concrete Sidewalk, 4in.	32	SY	\$90.00	\$2,880.00	0.0	\$0.00	-0.8	(\$72.00)	31.2	\$2,808.00	
111	Single Curb Inlet, Untrapped	1	EA	3,300.00	3,300.00	0.0	\$0.00	-0.0	(\$3,300.00)	0.0	\$2,000.00	
	Double Curb Inlet, Untrapped	1	EA	\$3,500.00	\$3,500.00	0.0	\$0.00	1.0	\$3,500.00	2.0	\$7,000.00	
112	Grate Inlet with Side Intake	4	EA	3,000.00	12,000.00	0.0	\$0.00	0	\$0.00	4.0	\$12,000.00	
114	Rebuild Inlet in Place	1	EA	3,250.00	1	0	\$0.00	0	\$0.00	1.0	\$3,250.00	
115	Paved Approach (6 in.)	58	SY	\$64.00	\$3,712.00	0.0	\$0.00	17.0	\$1.088.00	75.0	\$4.800.00	
116	Furnishing Type 2 Rock Blanket	2	CY	250.00	500.00	0.0	\$0.00	0	\$0.00	2.0	\$500.00	
117	Placing Type 2 Rock Blanket	2	CY	250.00		0	\$0.00	0	\$0.00	2.0	\$500.00	
118	Sawcut (any Depth/Material)	151	LF	5.00		0	\$0.00	0	\$0.00	151.0	\$755.00	
119	15 in. Pipe, Group A	185	LF	\$54.00		0.0	\$0.00	-17.4	(\$939.60)	167.6	\$9.050.40	
120	18 in. Pipe, Group A	74	LF	\$59.00	\$4,366.00	0.0	\$0.00	-1.0	(\$59.00)	73.0	\$4,307.00	
120	24 in. Pipe, Group A	142	LF	\$75.00	\$10,650.00	0.0	\$0.00	-2.0	(\$150.00)	140.0	\$10,500.00	
121	24 in. or Allowed Substitute	172	L 1				ψ0.00	-2.0	(\$150.00)	140.0	ψ10,000.00	
122	Group A Flared End Section	1	EA	1,250.00	1,250.00	0	\$0.00		\$0.00	1.0	\$1,250.00	
122	Total Amount=				\$195,437.00	0	\$0.00 \$0.00		\$20,649.58	1.0	\$1,230.00 \$216,086.58	
Overe	I Project Traffic Control			L	ψ100, 1 01.00	L	40.00	L	φ≥0,040.00	I	<i>_</i> 10,000.00	
	Project Traffic Control	1	LS	\$14,500.00	\$14,500.00	0	\$0.00	0	\$0.00	1	\$14,500.00	
• •	,		LO	ψ14,000.00	ψ14,000.00	0	\$0.00	0	\$0.00	I	\$14,500.00	
Overa	I Project Mobilization / Demobil	ization		1	1	[1	[
	Project Mobilization /			¢00.000.00	¢22.000.00	<u> </u>	¢0.00	0	#0.00	<u>,</u>	#00.000.00	
35	Demobilization	1	LS	\$32,000.00	\$32,000.00	0	\$0.00	0	\$0.00	1	\$32,000.00	
	Total Amount=	0		¢60.00	\$32,000.00	0	\$0.00	0	\$0.00	0	\$32,000.00	
2S	Downtime	0	HR	\$68.00	\$0.00	0	\$0.00	8	\$544.00	8	\$544.00	
	Total Amount=				\$926,315.00		\$0.00		\$12,921.53		\$939,236.53	